p35-36 sketch radians and arc length

Sketch the following & name the Quadrant.
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inding Arc Length

s=r0
where s = arc length
r = radius
0 = angle measure in radigns

1. A circle has a radius of 4 inches. Find the
length of the arc intercepted by a central angle
of 240° S=C Reutians
g=__ i‘ ® Convest aseqr’e;s ‘o cadions
e . v MO 41v
O=a MO == 8
==C &
(@) = q(u__\%j = o
. . . / 3
2. Find the angle in radians given
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3. Find the radian measure of the central angle
of a circle with a radius of 22 ft and an arc
length of 10 ft.
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